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FOREWORD

The National Examination Council of Tanzania is pleased to issue the Commerce
Candidates’ Items Responses Analysis for the candidates who sat for the
Certificate of Secondary Education Examination (CSEE) 2019. The report
provides feedback to students, teachers, parents, policy makers and public in
general on the performance of the candidates. Essentially, the candidates’
responses to the examination questions is a strong indicator of what the education
system was able or unable to offer to the candidates in their four years of their
secondary education.

The analysis presented in this report intends to contribute towards understanding of
some of the reasons behind average performance of the candidates. The report
highlights some of the factors that made candidates score high marks in the
questions. Such factors include ability of the candidates to adhere to the demands
of the questions, adequate knowledge and skills and the ability to express
themselves in English Language. Furthermore, the report also highlights some
factors which made some candidates score low marks. The factors include
inadequate knowledge and skills on the concepts examined, inability to identify the
tasks on the questions and poor mastery of English Language.

It is expected that the feedback provided will enable the educational stakeholders
to identify proper measures to be taken in order to improve candidates’
performance in future examinations administered by the council. Finally, the
council would like to thank all those who participated in the preparation of this
report.

A

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report analyses the candidates’ performance in Commerce examination
for the candidates who sat for Certificate of Secondary Education
Examination (CSEE) on the 8" November 2019. The paper consisted of ten
(10) questions that were set into three sections namely A, B and C. Section
A consisted of two (2) questions of which question one (1) carried 15 marks
and question two (2) carried 5 marks. Section B consisted of five (5) short
answer questions which carried 10 marks each. Section C consisted of three
(3) essay questions each of which carried 15 marks. Questions in sections A
and B were compulsory while in section C the candidates were required to
answer only two (2) questions.

A total of 13,958 candidates sat for commerce examination in 2019. The
examination results show that a total of 140 candidates’ results were
withheld due to different reasons. 13,818 candidates had clean results of
which 7,126 (51.57%) candidates passed and 6,692 (48.43%) failed. The
results in 2019 show an increase of 8.91 percent as compared to 2018 results
whereby a total of 6,907 (42.66%) out of 16,191 candidates passed and
9,284 (57.34%) failed.

The pass mark for each question was 30 percent or above of the marks
allocated. The candidates’ scores ranged from 45 to 100, 30 to 44 and 0 to
29 percent which represents good, average and weak performance
respectively. The candidates’ performance is summarized in the appendix
attached. The groups of candidates’ performance are denoted by using
special colours where by green represents good performance, yellow
represents average performance and red represents weak performance.

This report analyses the performance of the candidates question wise by
providing the requirement of each question and reasons behind candidates’
performance in a particular question. It highlights the candidates’ strengths
and weaknesses in attempting the questions as observed in their scripts. The
samples of candidates’ correct and incorrect responses are used to illustrate
the candidates’ performance in various questions. Therefore, this report will
be useful to teachers, candidates and other stake holders as it is expected that
necessary measures will be taken to improve teaching and learning of
commerce subject through this report.
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2.0

ANALYSIS OF THE PERFORMANCE OF CANDIDATES’ IN EACH
QUESTION

2.1

Question 1: Multiple Choice items

The question consisted of fifteen (15) multiple choice items from item
(i) — (xv), with 1 mark each, making a total of 15 marks. The items
were composed from various topics which are Transportation,
International trade, Production, Economics Basics, Advertising,
Management and Organization of Business, Finance, Warehousing
management, Taxation, Business units, Domestic Trade, Commerce
Basics and Insurance.

The questions intended to measure candidates’ knowledge and
application on various commercial concepts. The candidates were
required to choose the correct answer from among the given
alternatives. The question was attempted by all 13,958 (100%)
candidates, out of which 1,696 (12.2%) scored from 10 to 15 marks
8,848 (63.4%) scored from 5 to 9 marks and 3,417 (24.5%) scored
from 0 to 4 marks. Figure 1 summarises the candidates’ performance
in question 1.
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Figure 1: The percentage of candidates’ performance in Question 1.



Figure 1 shows that, the candidates’ overall performance in this
question was good as 10,541 (75.6%) of the candidates scored 4.5 to
15 of allotted marks.

Item (i), was composed from the topic of transportation. It required
the candidates to identify the appropriate mode of transport for
transporting medicine which are urgently needed from India to
Tanzania. The correct response was B, Air transport. The candidates
who opted for the correct response considered the urgency of the
demand of medicine and the distance from India to Tanzania. Some
candidates who opted for A, Road transport, C, water transport, D,
Railway transport and E, Pipeline transport had insufficient
knowledge about uses of modes of transport and the nature of
products which can be transported by each mode. Road transport is
mainly suitable for short distance delivery but it is slower over long
distance. However, there is no road that straight linked India and
Tanzania. Those who opted for C, water transport failed to realise
that the mode not suitable for transporting urgently needed goods like
medicine as it is regarded as the slowest form of transport compared
to others. Some candidates who chose D, Railway transport were
wrong because the mode is also slow for carrying urgently needed
item like medicine over long distance as compared to air transport.
Likewise, the candidates who opted for E, Pipeline transport failed to
understand that pipe line is special for transporting liquids and gasses
only; therefore, it is not suitable for transporting medicine.

In item (ii), the candidates were required to identify the document that
would be issued to the importer by the exporter so as to sort out
customs formalities before the arrival of a car ordered by the importer
from Japan. The correct response was D proforma invoice. The
candidates who opted for correct response showed their understanding
of various documents used in International trade. Proforma Invoice
shows the buyer how the invoice will look like. It contains the same
information as the ordinary invoice and may be used if the valuation
is required for customs purposes. The candidates who opted for other
options A, B, C and E failed to distinguish between the alternative
documents given. Those who opted for A, Price list failed to
understand that price list is a list of items available for sale with their
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respective prices, description of the goods and the period within
which the price apply. Those who opted for B, Delivery note were
wrong since delivery note is a document that accompanies the goods
being delivered. Option C, Quotation was not correct because the
document is a reply of an inquiry sent to the respective buyer
specifying the condition under which the seller is willing to supply
the goods or services. The candidates who opted for E, Invoice
confused the term invoice with proforma invoice. They failed to recall
that an invoice is a bill that is sent to the buyer from the seller
demanding payment for the goods sold on credit.

In item (iii), candidates were required to pinpoint the category under
which the services provided by teachers, lawyers and police to their
customers are classified. It was intended to test candidates’
understanding of the classification of production. The candidates who
opted for the correct response A, Direct services had adequate
knowledge of the concept of classification of occupations. In
production, human occupations are classified into primary, secondary
and tertiary; where tertiary production constitutes both commercial
and direct services. Direct services are the services which are directly
provided to the customers. Teachers, lawyers, doctors, police and
administrators are the examples of direct services providers. The
candidates who opted for incorrect response B, Auxiliary services,
were not aware that auxiliary services are the services that facilitate
trade to take place smoothly. Some candidates who opted for
incorrect option D, Public services failed to realize that public
services are normally provided to the members of the community by
the government and E, Indirect services are the services that are
delivered by staff members or volunteers. Direct contact between the
two parties is not necessary.

In item (iv), the candidates were required to identify the function
which is not among the functions of production department in
management. The correct response was E, recruiting members of staff
for production department. It is correct because in management, the
function of recruiting members is undertaken by Human Resources or
Personnel department. The department defines the manpower
requirement of an enterprise and provides it with adequate, competent
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and qualified personnel at all levels. The candidates who opted for the
other alternatives A, controlling the quality of goods produced in
production department, B, maintaining the quality of machines in the
production department, C, developing and implementing production
plans and D, preparation of budget for activities carried in the
department had poor knowledge of the concept of business
management in general, and particularly the functions of production
department. They failed to recall that production department is
responsible for all functions stated in option A to D but it is not
responsible for recruiting members of staff for production department.

In Item (v), the candidates were required to identify the factor which
influences the buying decision of a consumer from among the given
alternatives. The item aimed to assess the ability of the candidates to
apply the theory of demand knowledge in business. The correct
response was B, Preference and taste. The candidates who opted for
the correct response understood clearly the requirement of the item
and also had sufficient knowledge of the concept of the theory of
demand. Few candidates who opted for other alternatives failed to
comprehend the requirement of the question due to lack of knowledge
on the theory of demand and supply. Alternatives A, number of
producers, C, level of technology, D, cost of production and E,
availability of capital are factors which influence the producer to
offer certain product in the market, so they cannot be applied in the
theory of demand to influence consumers’ decision to buy a certain
product.

In item (vi), the candidates were required to identify a factor to be
considered in advertising fresh beans business so as to increase sales.
The item intended to measure the candidates’ knowledge on the
factors necessary to be considered in advertising a product. The
correct response was D, the nature of the product to be advertised.
The candidates who opted for the correct response understood that
fresh beans are perishable goods and newly introduced in the market
so it needs intensive advertising. Those who opted for incorrect
responses A, the income of competitors, B, steady supply of the
products to be advertised, C, income tax to be charged on the
products and E, the purchasing Power of your customer, had
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inadequate knowledge on the concept of advertising, Option A, the
income of competitors, was not correct because the supplier has to
look at the competitors’ media and not the competitors’ income. The
candidates who opted for B, steady supply of the products to be
advertised, were wrong because before advertising the product the
producer must make a market research and know his/her ability to
supply the product to customers. Instead, a fresh beans supplier has to
look on how long the advert persists. Those who opted for C, income
tax to be charged on the products failed to understand income tax is
charged on profit and not on cost. E, the purchasing power of your
customer was not correct because it is only the element under targeted
market.

In item (vii), the candidates were required to state the reason why a
bill of lading is used as the evidence of contract between the exporter
and the shipping company in international trade. The item aimed to
assess the ability of the candidates to analyse the uses of a bill of
lading as an international trade document. The correct response was
A, it contains the details of the goods loaded in the ship. The
candidates who chose the correct response were able to recall various
documents used in international trade and their uses. Those who
failed to respond correctly had insufficient knowledge in the
documents used in international trade. Some of them opted for B, It
shows the country from where the imported goods originated. These
candidates failed to know that the explanation given in option B was
valid for Certificate of origin. Those who opted for C, it bears the
name of the sender and the receiver of the goods were incorrect
because the answer excludes the shipping company which is the key
part of the contract. The candidates who chose D, It shows the
transport charges the exporter paid to the shipping company were
wrong because transport charges is normally indicated in the Freight
note and not in the Bill of Lading. Those who opted for E, it shows
the value of goods shipped could not understand that the value of
goods shipped is usually shown in a document called Consular
Invoice or certificate of inspection.

In item (viii) the candidates were required to identify a financial
institution which raises its capital through selling shares to the public.
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The correct response was D, commercial banks. Majority of the
candidates who opted for the correct response had sufficient
knowledge on the concept of finance as they were able to distinguish
between the various types of banks given and how each raise capital.
The candidates who opted for incorrect responses for example, A,
Central Bank, failed to understand that Central Bank is the
government bank which its main source of fund is from the
government sources such as income from exports, taxes, investments
and initial deposits from other banks. Furthermore, the candidates
who chose B, development banks, were incorrect because
Development banks obtained their capital from local banks or foreign
financial institutions in form of loans aiming at increase of foreign
exchange by encouraging production of exports. In addition, the
candidates who opted for C, cooperative banks and E, Saving banks
failed to understand that these banks obtained fund from the
government and are instructed to use for specific tasks. For example,
cooperative banks are established to handle matters relating to
farmers.

In item (ix), the candidates were asked to determine the cost of the
goods sold during the year from the given information. It tested the
candidates’ ability to determine cost of goods sold when provided
with annual sales and the gross profit percentage of sales. Most of the
candidates were able to choose the correct alternative A, Tsh
128,000/=. These candidates were able to apply the correct formula to
arrive at the correct option. Those who responded incorrectly had
inadequate knowledge on how to calculate the cost of goods sold by
using the given data. Many candidates with incorrect response opted
for B, Tshs 32,000/= as they calculated the gross profit which was not
the demands of the item. They were supposed to deduct the gross
profit obtained from sales. Those who chose choice C, Tshs
160,020/= incorrectly added the rate of gross profit to sale. Some
candidates chose D, Tshs 160,000/= because they failed to
differentiate sales from cost of goods sold. The candidates who opted
for E, Tshs 192,000/= incorrectly added the value of gross to sales
instead of deducting.

In item (X), the candidates were required to identify the reason for the
Tanzania Revenue Authority (TRA) to insist on the use of electronic
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fiscal devices (E.F.D) machines. The correct response was A, it
transmits tax information to tax authority system automatically. A
few candidates responded correctly to the item. This was due to their
ability to translate the requirement of the item and good background
knowledge of Taxation. Those who incorrectly responded by
choosing B, It transmits only sales records to tax authority system
automatically were wrong because it shows the sales and the amount
of taxes charged. The candidates who chose C, it enables the
government to obtain income from selling E.F.D machines, could not
understand the use of (E.F.D) machines and their contributions to the
government collections. The government sold (E.F.D) machines to
traders as a tool to control government revenue and not as source of
government income. Furthermore, the candidates who chose D, it
reduces tax burden to all tax payers, or E, It reduces tax burden to
businessmen had insufficient knowledge on the use of Electronic
fiscal device (E.F.D) machines. They failed to understand that with
E.F.D machines the government obtained the correct records of tax
charged at every stage of production (VAT) paid by the consumer and
the exact amount to be paid by the sellers. Tanzania Revenue
Authority (TRA) is concerned with tax collection in the country, thus
they are interested in the tax information necessary for tax collection.

In item (xi), the candidates were required to identify a factor of
production which is characterised by value appreciation. The aim of
this item was to assess the candidates’ understanding of the various
factors of production and their distinguished features. Alternative C,
Land was the correct response. They were able to distinguish the
distinct characteristic of land which is not obtained from other factors,
namely value appreciation. A few candidates chose incorrect
responses which were; A, Capital, B, Labour, D, Entrepreneurship
and E, Machines. The candidates who chose A, Capital were incorrect
since the capital can be in the form of cash or goods or tools which
are characterised by value depreciation. Similarly, the candidates who
opted for E, Machines were also wrong because machine is an
example of capital which has wear and tear behaviour therefore
depreciate and not appreciate. Some who opted for B, labour and D,
Entrepreneurship are the factors of production but they are not



featured by value appreciation instead they increase productivity
when supported by capital factor.

In item (xii), the candidates were required to provide the correct form
of classification of companies from the given alternatives. The item
intended to test the candidates’ ability to recall the form of
classification of companies. The correct response was B Registered
companies, statutory companies and chartered companies. The
candidates who gave the correct response had sufficient knowledge of
the concept of Companies in Business units. The candidates who
opted for incorrect responses; A, private limited companies, public
limited companies and public corporation, C, limited companies,
unlimited companies and co-operatives, D, parastatals, public
corporation and marketing boards and E, registered companies,
unregistered companies and local bodies had insufficient knowledge
on the classification of companies. They failed to understand that
private companies, public companies, limited companies and
unlimited companies are categorized under registered companies
while parastatals, public corporations, marketing boards and local
bodies are reclassified as public enterprises.

In item (xiii), the candidates were required to identify from among the
given alternatives, a set which represents large scale retailers: A:
Mobile shops, multiple shops and single shops. B: Supermarkets, tied
shops and mobile shops. C: Multiple shops, supermarkets and order
shops. D: Tied shop, mail order shops and supermarkets. E: Single
shops multiple shops and departmental stores. The item tested the
candidates’ understanding of the retail business which forms large
scale retailers.

The correct response was C, Multiple shops, super markets, mail
order shops. The candidates who responded correctly had sufficient
knowledge on the concept of retail trade hence, identified large scale
retailers from small scale retailers. Those who incorrectly answered
the item were not competent on the classification of retailers. They
failed to differentiate small scale retailers from large scale retailers.
Mobile shops, tied shops and single shops which are mentioned in the
alternatives A, B, D and E are classified as small-scale retailers,
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therefore the candidate who chose any of the alternatives were
incorrect.

In item (xiv), the candidates were required to identify the best way of
describing the term commerce to a form one student. The correct
response was C, commerce deals with exchange and distribution of
goods and services. Majority of the candidates realized that
commerce is purely concerned with trade and aids to trade. Trade is
about exchange of goods and services while aids to trade are
concerned with distribution of goods and services. The candidates
who opted for incorrect responses failed to differentiate commerce,
trade, main types of trade and aids to trade. Some candidates chose A,
Commerce deals with distribution of goods to final users were
incorrect because it is aids to trade which deals with distribution of
goods and not only goods but also services to the final users. It is only
one part of commerce. The candidates who opted for B, Commerce
deals with exchange of goods and services failed to understand this
option stands for trade which is a branch of commerce and not
commerce. Those who opted for D, commerce deals with exchange of
goods and services within the country were not aware that the option
defined home trade. Additionally, the candidates who opted for E,
Commerce deals with exchange of goods and services outside the
country failed to realize the option was about foreign trade. Options D
and E are the main branches of trade.

In item (xv), the candidates were required to opt for the correct term
of insurance to be used when an insurer decides to spread part of the
risks of high valuable items insured to other insurers. The item tested
candidates’ knowledge on different insurance terminologies. The
correct response was E, co-insurance which implies that insurer
decided to reduce the burden of compensating the whole amount
alone for high valuable items therefore spreading the risks to other
insurers. Those who responded correctly had sufficient knowledge on
various terms used in insurance. Those who responded incorrectly
failed to recall and relate the correct meaning of each alternative term
with the requirement of the item.
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2.2

Some candidates who opted for A, double insurance were wrong
because double insurance is the act of taking out an insurance policy
in different insurance companies on the same risk. The candidates
who opted for B, over Insurance were incorrect because over
insurance occurred where the insured over declares the value of
his/her property at the time of taking out insurance. Moreover, those
who opted for C, re-insurance and D, under insurance did not know
the meaning of the terms because re-insurance occurred when one
insurance firm insures another firm or person against a big loss, also
insures itself against such a big claim with another insurance
company. Lastly under insurance occurred when the insured under-
declares the value of the property at the time of taking out insurance.
Therefore, all the four options did not meet the requirement of the
question.

Question 2: Matching items

The question consisted of five (5) matching items each carrying 1
mark. The items were composed from the topic of International
trade. The question intended to assess the candidates’ knowledge of
various documents used in international trade. The candidates were
required to match the items in Column A with responses in Column
B by writing the letter of the correct response in the answer
booklet(s) provided. The question was
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Column A Column B

(i) A document used to inspect the | A Letter of credit
quality and prices of the goods )
before they had been dispatched B Letter of hypothecation
to other country. C Calling forward note
(i) A document which allow the | p pock warrant
bank to possess and sell the
goods imported so as to receiver | E  Consular Invoice

the debts. F Indent

i) A document which requires an
agent to place an order on behalf
of the importer with an
appropriate exporter.’

G Letter of Indemnity

iIv) A transferable document issued
by a warehouse Kkeeper to
represent the right of ownership
of goods.

(v) A document which informs the
exporter about the date of which
goods will be at the dock ready
for loading.

The question was attempted by 13,958 (100%) candidates out of
which 10,732 (79.9%) scored from 0 to 1 mark, 2,778 (19.9%)
scored from 2 to 3 marks and 448 (3.2%) candidates score from 4 to
5 marks. Figure 2 summarizes the candidates’ performance in
question 2.

12



Scores
m0-1
2-3

m4-5

Figure 2: Percentage of candidates’ performance in question 2.

The data analysis shows that the candidates’ performance in this
question was poor as 10,732 (79.9%) scored low marks (0 to 1 mark)
out of five allocated marks and among them 6,188 (44.3%) scored 0
mark. Despite poor performance of the candidates in this question
3,226 (23.1%) candidates scored an average of 30 percent and above
of the allocated five marks.

In item (i) the candidates were required to identify a document used
to inspect the quality and prices of the goods before they are
dispatched to other country. The correct response was E, Consular
invoice. The candidates who responded correctly understood the
meaning of Consular invoice and the role it plays in International
trade. However, some of the candidates failed to match the item with
a correct response because they were confused with the word
“dispatched”, relating it to dispatch of letters or parcels, hence
choosing either alternatives A, Letter of credit or B, Letter of
hypothecation. Other candidates responded by guessing.

In item (ii), the candidates were required to identify a document
which allows the bank to possess and sell the goods imported so as to
recover the debts. The correct response was B, Letter of
hypothecation, though some candidates incorrectly matched it with
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G, Letter of indemnity. They failed to understand that a letter of
hypothecation is drawn when the bill of exchange has not been paid
by the importer or has refused to accept the goods from exporter.
Then his bank is authorized to sell the goods at the best price to clear
the debts. There were some candidates who matched the item with
incorrect response A, letter of credit. They had wrongly interrelated
the term “Bank” with “credit” along with the function of the bank
which is to extend credit facilities to their customers.

In item (iii), the candidates were required to identify a document
which requires an agent to place an order on behalf of the importer
with an appropriate exporter. The correct response was F, indent.
Majority of the candidates responded correctly to the item. It is an
indicator that they were able to recall the meaning of the term indent.
Incorrectly, other candidates matched the item with E, consular
invoice. They confused the presentation of the consul to the
exporting country with the words “on behalf of the importer” from
the stem of the item. Others who matched it with incorrect response
failed to recall the meaning of indent in relation to international
trade.

In item (iv), the candidates were required to identify a transferable
document issued by a warehouse keeper to represent the right of
ownership of goods. The correct response was D, Dock warrant. The
candidates who matched the item with the correct response had clear
understanding of the meaning of dock warrant and were able to
differentiate it from other documents given. Those who opted for
incorrect responses failed to relate the item given with the concepts
of international trade instead related it with the concept of warehouse
which influenced them to opt for E, Consular invoice. They
considered it as an invoice which is a document issued by the seller
to the buyer when goods are sold on credit, which was an incorrect
response.

In item (v), the candidates were required to identify a document
which informs the exporter about the date at which goods will be at
the dock ready for loading. The correct response was C, Calling
forward note but many candidates matched it with D, Dock warrant
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2.3

which was wrong because they related the word “dock™ (where
goods are loaded or offloaded in water transport) with dock warrant.

Others matched it with other incorrect response for example, F,
Indent because they failed to recall that indent is a purchase order, it
cannot work as dock warrant.

Question 3: Finance

The question had two parts: (a) and (b). In part (a), the candidates
were required to analyse the three main parties to a cheque involved
in a transaction which was: Mr. Ramsi is a businessman who had an
account with CRDB Bank in Arusha branch issued a cheque to Mr.
Karim amounting to Tsh. 150,0000/= only.

Part (b), was: Assume one of your teachers is a businessman and he
had received two crossed cheques from one of his customers. One of
the cheque bearing the words “Not Negotiable” and the other one
“Account payee only”. The candidates were required to briefly
explain to the teacher what the terms “Not Negotiable” and “Account
payee only” imply?

The question was attempted by 13,958 (100%) candidates out of
which 9,904 (71%) scored from 0 to 2.5 marks, 3,021 (21.6%)
scored from 3 to 6 marks and 1,033 (7.4%) candidates scored from
6.5 to 10 marks. This performance is summarized in figure 3.

Score

m(0-25
3-6

m6.5-10

Figure 3: Percentage of candidates’ performance in question 3
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Figure 3 shows that the candidates’ performance in this question was
poor because 9,904 (71%) candidates scored low marks ranging from
0 to 2.5 marks. Among them 3,789 (27.1%) scored 0 mark as they
failed to answer correctly any of the two parts. A few 2,027 (29%)
candidates were able to score from 3 to 10 allocated marks.

A total of 9,904 (71%) candidates performed poorly in this question
since their scores ranged from 0 to 2.5 marks. They had inadequate
knowledge of the concepts examined on finance topic. Some
candidates who scored from 0.5 to 2.5 marks were able to mention at
least one out of three parties to a cheque but failed to relate the
parties with the demands of the question in part (a). These candidates
provided various incorrect responses which reflected their poor
understanding on the demands of the question in this part. For
example, most of the candidates mentioned the parties to a cheque in
part (a) which are drawer, drawee and payee but failed to provide
the descriptions related to the parties analysed and they sited
incorrect examples in relation to the question. Many of them sited
Mr. Ramsi as drawee, Mr. Karim as a drawer and CRDB Bank
Arusha branch as a payee. Others could not give examples but
interchanged the descriptions of the parties mentioned. The correct
responses to this part were:

(i) The drawer - This is a person who writes the cheque to pay for
the debts and is also the account holder i.e. Mr. Ramsi.

(i) The drawee - The bank on which the cheque is written. It is the
one which effects or makes payment of the cheque. i.e. CRDB
Bank - Arusha branch

(ili) The payee - This is a person to whom the cheque has been
written. He/she is a person whose name is written on the
cheque and is entitled to receive money (payment). i.e. Mr.
Karim

However, majority of the candidates could not answer part (b)
correctly. Many of them explained the term not negotiable as a bear
cheque which is payable to anyone who present it to the bank for
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payment. Likewise, the incorrect responses from some candidates
imply that in the term “not negotiable” the amount and the name of
the payee should not be disclosed in a cheque. They were wrong
because in the amount to be paid must be shown in a cheque
however, for a bear cheque the name of payee is not written. Some of
these candidates were confused by the word ‘not” and they assumed
it as dishonoured cheques therefore, defined a dishonoured cheque
and gave some reasons for a cheque being dishonored. A few
candidates who scored some marks in this part provided partial
descriptions for the terms. However, a few of them gave the meaning
of the term not negotiable as the payee named on a cheque cannot
transfer the right to receive money against it to another person by
endorsement. They were not being able to provide the correct
meaning of the term “Account payee only”. Some answered it as
money paid to the bank but failed to specify to whom the money is
deposited. Other defined it as a crossed cheque in general.

On the contrary, the candidates 3,789 (27.1%) who scored 0 mark in
this question failed to grasp the requirement of the question in both
parts. This was due to lack of knowledge on finance topic
particularly on the method of payments through commercial bank
where cheques are used. For example, some candidates mentioned
the methods used to pay the creditor through commercial banks like
standing order, cheques, and credit transfer in part (a). Some
candidates also mentioned the reasons for a cheque being
dishonoured while others listed the types of cheques as parties to a
cheque which were incorrect. In addition, there were some
candidates who drew a sample specimen of a cheque but failed to
show the parties accordingly. In part (b), many candidates failed to
provide the correct response. For example, some candidates
incorrectly understood that term “not negotiable” as the cheque can
be transferred to someone else but the amount should not be
changed. Similarly, other candidates understood that what should not
be changed is the drawee but the payee can be changed. They also
responded to account payee only as endorsement of a cheque, which
was wrong. However, there were few candidates in this group who
copied some words from the question as response to part (b).
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Extract 3.1: A sample of incorrect response

In extract 3.1, part (a) the candidates mentioned the name given to a
cheque which is not accepted by the drawee and the types of cheques
instead of analyzing the parties to a cheque. In part (b), the
candidates wrote meaningless sentences to describe the words “not
negotiable” and “account payee only”.

The candidates 3,021 (21.6%) who performed moderately scored
from 3 to 6 marks. The majority of these candidates were able to
analyse parties to a cheque correctly in part (a), but provided partial
explanation on the terms given in part (b). However, some were able
to mention the parties to a cheque correctly in part (a) but they could
not provide satisfactory explanation to some parties. A few
candidates answered part (b) correctly and mentioned the parties to a
cheque but mixed the explanations of the parties in part (a). Likewise
some candidates partially answered part (a) and left part (b)
unanswered.

The candidates 1033 (7.4%) who scored high marks (6.5 to 10
marks) were able to answer the question as required. They
demonstrated their understanding of the three main parties to a
cheque in part (a) as they were able to analyses the parties correctly
basing on the information given in part (a). They were also able to
give brief explanation on the terms “not negotiable” and “account
payee only”. However, some of the candidates failed to give
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satisfactory explanation on the terms given especially on account
payee only. The candidates’ scores varied according to their ability to
analyse the parties to a cheque and providing the correct meaning of
the terms given. A sample of the candidates’ good response is shown
in Extract 3.2
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Extract 3.2: A sample of a correct response.
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2.4

In extract 3.2, the candidate analysed three parties to a cheque and
briefly explained the terms “not negotiable” and “Account payee
only.”

Question 4: Taxation

The question consisted of two parts (a) and (b). The candidates were
required to summarize the effects of taxation with three positive
effects in part (a) and two negative effects of taxation in part (b). The
question intended to measure the candidates’ ability in identifying
the effects of taxation.

The question was attempted by 13,958 (100%) candidates, out of
which 1,924 (13.8%) scored from 6.5 to 10 marks, 4,245 (30.4%)
scored from 3 to 6 marks and 7,789 (55.8%) scored from O to 2.5
marks. Generally, the candidates’ performance in this question was
average since 6,169 (44.2%) of all candidates scored from 3 to 10
allocated marks. This performance is summarized in figure 4.
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Figure 4: Percentage of candidates’ performance in question 4

The candidates 1,924 (13.8%) who performed well in this question
had scores ranging from 6.5 to 10 marks. These candidates had
sufficient knowledge on the topic of taxation particularly on the
concepts examined, therefore explained the positive and negative
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effects of taxation. The majority explained correctly the positive
effects but partially on the negative effects with unsatisfactory
explanations. A few candidates scored 10 marks allocated as they
were able to show the positive and negative effects of taxation as
required. A sample of the candidates’ correct response is given in
Extract 4.1.
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Extract 4.1 is a sample of correct response.

The candidates 4,245 (30.4%) with average performance who scored
from 3 to 6 marks. Most of them were able to present the positive
and negative effects of taxation by mentioning the correct points but
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they could not give the correct descriptions to some of the effects.
Others explained correctly the positive effects of taxation to the
economy but failed to give the correct negative effects. The negative
effects of taxation include effect on the working ability of an
individual, discourage investment, discourage saving, effect of
diversification of resource and causes of inflation. Furthermore,
some candidates provided relatively correct explanation on few
correct points mentioned on both positive and negative.

On contrary, 7,789 (55.8%) candidates scored 0 to 2.5 marks as they
failed to provide the correct response according to the demand of the
question. The analysis shows that these candidates had inadequate
knowledge of taxation and had also poor mastery of English
Language. The candidates with scores from 0.5 to 2.5 marks
mentioned some correct points like a source of government revenue
and discouraging importation and use of harmful goods as positive
effects of taxation but they could not give any correct points on
negative effects. Other candidates explained only one correct point
on the positive effect of taxation while other points were incorrect. In
addition some candidates mentioned the same points in a negative
way as the negative effects of taxation. However, there were some
candidates who mentioned some positive or negative effects without
any descriptions.

Furthermore, the analysis shows that the candidates 1,748 (12.5%)
candidates who scored 0 mark had poor understanding of the
requirement of the question and inadequate knowledge of taxation. A
medium of instruction was noted as a barrier to most of these
candidates. For example, some candidates failed to differentiate
negative and positive therefore, interchanged the responses. Others
provided irrelevant responses which related to taxation but not
satisfactory to the demands of the question. For example, candidates
explained the advantages and disadvantages of indirect tax to tax
payers instead of the negative and positive effects of taxation in an
economy. Additionally, other incorrect responses given by these
candidates include principles of taxation as positive and systems of
taxation as negative effects. They were unable to differentiate
between effects of taxation, principles and classification of taxes.
Extract 4.2 shows a sample of the candidates’ poor response.
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Extract 4.2 is a sample of incorrect response.

In extract 4.2, the candidate mentioned the types of tax systems in
part (a) as positive effects of taxation in an economy and surtax in
part (b), which is an example of direct tax instead of the negative
effects. The other point mentioned in part (b) is meaningless as far as
taxation is concerned.

Question 5: Warehousing Management

The question required the candidates to explain five contributions of
the cashew nuts warehouse to cashew nuts producers from Chetu
village. The question intended to measure the candidates’ ability to
recall the benefits of warehousing to the users.

The question was attempted by all 13, 958 (100%) candidates. Out of
whom 2,327 candidates scored from 6.5 to 10 marks and 5,140
(36.8%) scored from 3 to 6 marks. Further, the analysis shows that
out of 13,958 candidates, 6,491 (46.5%) candidates scored from 0 to
2.5 marks of which 3,081 (22%) scored zero mark. The candidates’
performance is summarized in Figure 5.
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Figure 5: Percentage of candidates’ performance in question 5.

The analysis shows that the overall performance of the candidates in
this question was average since 53.5 percent of the candidates scored
from 3 to 10 allocated marks.

The candidates 2,327 (16.7%) who scored high marks which ranged
from 6.5 to 10 marks managed to respond to the question as required.
They briefly explained the contributions of warehouse to cashew
nuts producers. Majority of these candidates briefly explained three
to five contributions of warehouse to Chetu villagers. Their scores
varied according to their ability to clarify the points and the number
of correct points explained. Extract 5.1 shows a sample of correct
response.
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Extract 5.1: A sample of a correct response

However, 5,140 (36.8%) candidates who scored 3 to 6 marks
moderately responded to the question. They provided brief
explanations on some contributions of a warehouse to Chetu
villagers. Some of their responses were mixed with a few functions
of stock administration such as receiving stock, caring of stock and
stock control. Others gave some correct points mixed with various
concepts in warehousing management. For example, one of the
candidates explained some correct advantages like price stability and
storage facility, but included the points like lack of modern
equipment, lack of professional store keepers and shortage of bags to
keep their produce, which are the limitations that faced Chetu
villagers. Some candidates mentioned the correct point but failed to
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link with product in question with their responses. For example, the
other candidate mentioned the point of storage facilities but
explained it as it is used for storage of perishable goods while
cashew nuts are not perishable. Insufficient number of correct
contributions and unsatisfactory explanations to some correct points
are the factors for average scores.

On contrary, 3.410 candidates with scores ranging from 0.5 to 2.5
marks had poor understanding of the question but also inadequate
knowledge of warehousing management especially the importance of
warehousing. Many of the candidates mentioned only one correct
point which is provision of storage facilities though they failed to
explain it accordingly. The rest of the points given by these
candidates include the functions of stock administrations and factors
to consider when establishing a warehouse. Furthermore, apart from
explaining the point of storage they included incorrect responses like
types of warehouses and the importance of a bonded warehouse.

However, 3,081 (22.1%) candidates scored 0 mark. These candidates
failed to provide any correct contribution of warehouse to Chetu
villagers. The analysis proved that some of the candidates failed to
grasp the demands of the question. The candidates explained the
essentials of a warehouse, the functions of stock administrations,
challenges of warehousing and other incorrect concepts relating to
warehouse management instead of the contribution of warehouse to
producers. The correct response included: price stability, provision
of storage facilities, preparation of cashew nuts for sale, preserves
surplus cashew nuts from different farmers, to promote cashew nuts
production encourage export of cashew nuts, bulk selling, easy to
find market, protection of cashew nuts and reduction of transport
costs. Extract 5.2 shows a sample of an incorrect response.
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Extract 5.2 is a sample an incorrect response

In extract 5.2, the candidate explained the essential factors that
Chetu villagers have to consider before building a warehouse
instead of the contributions of a warehouse to cashew nuts
producers at Chetu village.
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2.6

Question 6: Economics Basics

In this question, candidates were required to study the diagram given
and answer the questions in part (a) and (b). In part (a) the candidates
were required to state what does shift in demand curves from Dy to
D; (left) and Do to D, (right) from the given diagram imply? In part
(b) they were required to describe four possible causes for a shift in
demand curve from Dg to D, as shown in the diagram. The question
was set to test candidates understanding on the difference between
change in demand and change in the quantity demanded and the
reasons for increase in demand.

The question was attempted by all 13,958 (100%) candidates, of
which 10,276 (73.6%) scored from 0 to 2.5 marks, 3,159 (22.6%)
scored from 3 to 6 marks and 523 (3.7%) scored from 6.5 to 10
marks. However, out of 10,276 (73.6%) a total of 5,240 (37.5%)
candidates scored a 0 mark. Figure 6 summarises the performance of
candidates in question 6.
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Figure 6: Percentage of candidates’ performance in question 6.

The candidates’ general performance in this question was poor
because 10, 276 (73.6%) candidates scored below 3 marks out of 10
allocated marks and among them 5,240 (37.1%) scored 0 mark.
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A total of 5,036 (36.1%) candidates scored from 0.5 to 2.5 marks.
Majority of them failed to answer correctly part (a) because they
failed to differentiate shift in demand curves and change in the
quantity demanded. They failed to interpret the curves from the
diagram because once price is held constant, the changes imply shift
in demand curves or change in demand. If the diagram shows a
single demand curve that implies change in the quantity demanded
due to changes in price. These candidates considered the question as
change in quantity demanded instead of change in demand.
Therefore, their responses were about change in quantity demanded
of which, some of them defined a shift in demand curve from Dy to
D; as decrease in quantity demanded. Others defined it as increase in
quantity demanded instead of decrease in demand. They also defined
a shift in demand curve from Dy to D, as increase in quantity
demanded instead of increase in demand. A few of them were able to
give only one correct cause of shift in demand curve from Dy to D,
which is change in weather in part (b). The other causes mentioned
by most of these candidates were the causes of change in quantity
demanded and not the causes for increase in demand.

The question was specific to increase in demand of which the correct
causes were: increase in population, increase in the rate of
advertising, increase in consumers’ income, increase in consumer’s
taste and fashion, expected increase in price of a commodity in
future, government policy, increase in price of complements and
substitute products. However, there were some candidates who
explained the causes of decrease in demand (shift in demand curve
from Dy to D,) instead of the causes of increase in demand.

However, 5,240 (37.5) candidates scored O mark as they could
neither be able to state what does a shift in demand curves from Dg
to D; and Dg to D, imply nor describing four possible causes for a
shift in demand curves from Dy to D,. Some of these candidates
incorrectly attempted part (a) by defining the types of demand such
as composite demand, derived demand and joint demand. Other
candidates explained the meaning of the shift in demand as decrease
in supply. These candidates failed differentiate demand from supply
curve. In part (b), majority of the candidates in this category
mentioned the factors which cause change in price of a commodity
29



instead of the factors for increase in demand of a commodity or
services. For example, they mentioned the factors like forces of
demand and supply, costs of production, number of producers,
number of customers and time of buying. Other candidates wrote
different terminologies from the topic of Economic basics which
were irrelevant to the question. For example, one of the candidates
stated the theory of demand and supply as two separate points and
also explained the demand schedule as another point. Extract 6.1
shows a sample of incorrect response from one of the candidates.
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Extract 6.1 is a sample of an incorrect response.

In extract 6.1, the candidate explained shift in demand curves from
Do to D1 and Dg to D», as the law of demand instead of decrease and
increase in demand. Furthermore, the candidates mentioned the types
of elasticity in demand instead of the causes for increase in demand

The candidates 3,159 (22.6%) who performed moderately in this
question had scores ranging from 3 to 6 marks. Most of these
candidates responded correctly in part (a) of the question and
partially answered part (b). They partially described at least one or
two factors for the possible causes for a shift in demand curves from
Do to D,. Further, the analysis shows that the candidates’ responses
in part (b) were about general change in demand and change in
quantity demanded instead of being specific to increase in demand.
Some students mentioned some correct responses but failed to
describe the points correctly.
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Despite poor performance of the candidates in this question, a few
candidates 523 (3.7%) performed well as their scores ranged from
6.5 to 10 marks. The candidates studied the diagram given and
respond correctly to part (a) as they understood what happened if the
price of a commodity held constant. In part (b) the candidates
described the possible causes for a shift in demand curves from Dy to
D,. Most of these candidates were able to describe the required
number of factors though there were some slight discrepancies
observed in their descriptions hence the variation of marks. There
were a very few candidates who scored full 10 marks, as they were
able to tell what the meaning of the shift in demand curves from
what the diagram imply and described all the required causes for the
shift in demand curve from Dy to D,. Extract 6.2 represents a sample
of a correct response.
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Extract 6.2 is a sample of correct response.

Question 7: International Trade

The question had two parts (a) and (b). In part (a) the candidates
were required to describe two main features of a broker and in part
(b), they were required to describe two main features three main
features of a factor. The question intended to test the candidates’
ability in differentiating features of a broker and a factor as the
agents in international trade.

The question was attempted by 13,957 (100%) candidates of which
11,737 (83.4%) scored from 0 to 2.5 marks among them 9,244
(66.2%) scored O mark. However, a total of 1,840 (13.2%)
candidates scored from 3 to 6 marks and only 380 (2.7%) candidates
scored from 6.5 to 10 marks. The candidates’ performance in this
question is summarized in figure 7.
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Figure 7: Percentage of candidates’ performance in question 7.

The candidates’ performance in this question was poor since 84.1
percent of all candidates attempted the question scored from 0 to 2.5
marks. These candidates lack of knowledge of the types of agents in
international trade but also had poor proficiency in the English
Language. Some candidates scored some marks because they
pinpointed a correct feature for either broker or a factor. The correct
feature for a factor given by most of these candidates was selling of
the goods. However, they failed to describe the mentioned feature,
rather described it as a normal sales made by the owner of the goods.
Some incorrect responses provided by these candidates for the broker
include the features of capital factor of production. For example, one
of the candidates mentioned the points such as buying machines,
paying labour and paying for rent which presents the features for
capital. In addition there were some candidates who considered
broker as a function of a wholesaler called breaking the bulk so they
explained how a wholesaler breaks the bulk of goods. Other
candidates listed the factors of production as labour, capital, and
land as the features for a factor. This justified misconception of the
demand of the question. However, some of these candidates
mentioned at least two correct features to any of the agents without
descriptions.
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The candidates who scored 0 mark failed to recall the features of
neither broker nor a factor. Some candidates had idea of the agents
but failed to differentiate the two agents therefore, failed to identify
to whom the features belong. This results into interchange of the
features of the agents. For example one of the candidates described
the correct features for a broker but described them as the features
for factor and vice versa instead of describing the features for a
broker as he cannot sell the car that needed by Mr. James, never
possess the car, not allowed to receive any cash for payment, do not
have a bargaining power, he is has no right to share the profit but he
specialized in a particular line of product. Furthermore the correct
features for a factor include: the right to possess the goods, right to
sell the goods at his/her own name, right to receive payment from
Mr. James at all if he decided to buy the car from Japan. He can also
have the power and right to determine the terms of sales of the goods
on behalf of his principal and can receive profit from sales of the
goods. Extract 7.2 shows a sample of the candidates’ poor response.
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Extract 7.1 is a sample of incorrect response.

In extract 7.1, the candidate had knowledge of the agents in
international trade in particular, a broker and a factor but failed to
differentiate broker from a factor. The candidate interchanged the
features for the agents.

Further analysis shows that, the candidates whose scores ranged

from 3 to 6 marks had partial knowledge of subject matter examined.

Some of them were able to point out the features correctly but failed

to describe them in accordance with the demand of the question. For

example, those who stated that a broker cannot sell the goods on

his/her name instead selling is made in the name of the principal,
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their explanation was mainly based on the idea that they do possess
the product hence they cannot sell them on their name which is not
true. The truth is that brokers neither possesses nor sell the goods but
mainly connects buyers to sellers. Therefore he can connect Mr.
James with the supplier in Japan. Others described the features of
either broker or the factor.

Despite poor performance of the candidates in this question, 380
(2.7%) candidates scored high marks ranged from 6.5 to 10 marks.
The candidates had sufficient knowledge of the agents in
international trade hence described the features of broker and factors.
Some candidates described correctly all required features for a factor
agent and mentioned the features or a feature for broker without
description. A few candidates who managed to score all 10 allotted
marks were able to describe required features for both broker and
factor as required. Variations of individual scores observed were
caused by the candidates’ ability to describe the features. Extract 7.1
is a sample of a correct response.
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Extract 7.1 shows a sample a correct response

Question 8: Business Communication

The question required the candidates to explain three positive and
three negative effects of mobile phone communication in business.

The question was attempted by 10,449 (74.8%) candidates of which
5,258 (50.3%) candidates scored from 0 to 4 marks, 5,024 (48.1%)
scored from 4.5 to 9.5 marks and 167 (1.6%) candidates scored from
10 to 15 marks. The analysis shows that the candidates’ performance
in this question was average since 5,191 (49.7%) candidates scored
from 10 to 15 marks. This performance is summarized in figure 8.
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Figure 8: Percentage of candidates’ performance in question 8.

The candidates who scored high marks (10 to 15) had sufficient
knowledge on the concept of business communication; hence, they
were able to respond to the question as required. These candidates
managed to give the relevant positive and negative effects of mobile
communication in business. They performed well because mobile
communication is widely used by many people in business and it is
easy to observe its effects. However, not all of the candidates were
able to exhaust the number of points required correctly, leading to
variation of their scores. Extract 8.1 shows a sample of the
candidates’ correct response.
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Extract 8.1 is a sample of a relatively correct response.

On the other hand, 5,024 (48.1%) candidates performed averagely as
their scores ranged from 4.5 to 9.5 marks. They understood the
question but they had partial knowledge of communication media
particularly mobile phones. The majority gave the correct positive
effects of mobile phone in business but they gave cultural and social
negative effect of mobile phones to the community instead of
negative effect of mobile phones in business. Others managed to give
correctly the negative effects mixed with incorrect positive effects.
Some candidates managed to pinpoint almost all correct points but
failed to clarify the effects. In addition, most of these candidates
adhered to essay writing procedures and hence scored some marks on
introduction and conclusion part.

Conversely, a total of 5,258 (50.3%) candidates performed poorly as
they scored from 0 to 4 marks. The majority scored some marks on
introduction part and at least two correct effects mentioned. Some
candidates did adhere to essay procedures because they could not
include introduction or conclusion parts in their responses. They
highlighted the positive and negative effects in a summary form.
Other candidates had knowledge of mobile communication but they
failed to differentiate the positive from negative effects. For
example, one of the candidates had correctly introduced the concept
but wrote the correct negative effects under the heading of positive
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effects and vice versa. However some candidates scored some marks
from introduction part only.

A total of 217 (2.1%) candidates who scored 0 mark lacked
knowledge of the concepts examined but poor proficiency in the
English Language was noted as a problem. The candidates
incorrectly interpreted the question as they explained different
concepts relating to communication in general. This was due to lack
of seriousness and concentration to the examination. Some of them
incorrectly responded to the question by giving elements of
communication, others mentioned different brand names from
mobile phones and explained the advantages and disadvantages of
each brand. For example, Samsung and Techno brand, the candidate
explained which one is more preferred by the customers than the
other and why. Others mentioned the quality of money like store of
value, measure of value, divisibility and transfer of immovable assets
as the associated the question with money transfer services offered
through mobile phones like Tigopesa, Airtel money and Mpesa.
Extract 8.2 shows a sample of the candidates’ incorrect response.
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Extract 8.2 is a sample of an incorrect response.

—

In extract 8.2, the candidates mentioned the elements of
communication as the positive effects of mobile communication in
business instead of the positive effects of mobile communication in
business. The explanations given by the candidate could not reflect
the elements of communication. However, the candidate mentioned
appearance of the gender as a negative effect but it was irrelevant.

Question 9: Production

The question required the candidates to argue against the statement
“Creation of employment is the only advantage of specialization in
production” by giving six reasons. The question intended to test the
candidates’ understanding on the advantages of specialization in
production.

The question was attempted by 7,585 (54.3%) of all the candidates of
whom, 1,054 (13.9 %) candidates scored 10 to 15 marks, 2,824
(37.2%) scored from 4.5 to 9.5 marks and 3,707 (48.9%) candidates
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scored from O to 4 marks Figure 9 summarizes the performance of
candidates in question 9.

Scores

m0-4
45-95

m10-15

Figure 9: Percentage of candidates’ performance in question 9

The analysis shows that the candidates’ performance in this question
was average since 3,878 (51.1%) candidates scored from 4.5 to 15
marks.

The candidates who scored from 10 to 15 marks had an adequate
knowledge of the concepts tested and understood the requirement of
the question. Most of them argued against the statement by
explaining at least four advantages of specialization out of six
required. They also observed essay writing procedures hence scored
marks on introduction and conclusion parts. A few candidates who
correctly argued against the statement with sufficient number of the
advantages and presented their responses in essay form scored full
marks. The difference noted among individual scores was
contributed by the candidate’s ability to argue against the statement
and proper presentation of the responses. Extract 9.1 is a sample of
the candidates’ correct response from a candidate who correctly
argued against the statement.
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Extract 9.1 is a sample of ta correct response.

On the contrary, 2,724 (37.2%) candidates had average performance
as their scores ranged from 4.5 to 9.5 marks. These candidates had
knowledge of specialization but some of their responses had some
discrepancies because some candidates provided insufficient number
of correct points. They gave some correct response but mixed with
some limitations of specialization and also explained creation of
employment as a point. Others mentioned the correct advantages but
failed to defend some of the points. Some of them were able to
present the correct introduction but could not present the correct
conclusion. However, some of these candidates managed to score
marks on both introduction and conclusion.

Conversely, 3,707 (48.9%) candidates had poor performance. The
number of reasons contributed to their failure but the major reason
was misconception of the demand of the question. The other reason
is inadequate knowledge of production particularly on the advantages
of specialization. The candidates who scored some marks were able
to explain the meaning of specialization and give only one or two
correct advantages though their explanations could not deserve full
marks.

Some candidates scored 0 mark because they responded contrary to
the demands of the question. The candidates wrote various concepts
from the production topic which did not match with demands of the
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question. For example, some candidates explained the factors of
production such as land, labour, and capital with the rewards for
each factor as separate points. Others explained advantages of
employment to an individual instead of advantages of specialization
in production. Furthermore, some candidates responded by giving
the disadvantages of specialization like leads to boredom, causes of
unemployment, loss of craftsmanship and inflexibility of workers
instead of advantages. Extract 9.2 shows a sample of the candidates’
poor response.
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Extract 9.2: A sample of incorrect response

In extract 9.2, the candidate explained the way through which a
person can create employment instead of explaining other advantages
of specialization apart from employment.

Question 10: Insurance

The question required the candidates to explain how the principles of
insurance govern the conduct between insurers and insured. The
question intended to test the candidates’ ability to analyse the need of
the principles of insurance to both insurers and insured in insurance.

The question was attempted by 9,202 (65.9%) of all the candidates,
of which 4,285 (46.6%) scored from 0 to 4 marks, 3,930 (42.7%)
scored from 4.5 to 9.5 marks and 987 (10.7%) scored from 10 to 14.5
marks out of 15 allotted marks. The candidates’ performance in this
question was average as 53.4 percent of all candidates who opted for
this question scored from 4.5 to 14.5 marks. Figure 10 summarises
the candidates’ performance in this question.
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Figure 10: Percentage of candidates’ performance in question 10.

A total of 987 (10.7%) candidates who scored from 10 to 14.5 marks
were able to explain how principles of insurance govern the conduct
of insurance to both insurers and insured. Almost all candidates in
this category were able to give the correct principles of insurance and
show how they govern the contact between insurers and insured.
However, some of the candidates’ explanation in some principles did
not worth full marks. Extract 10.1 presents a sample of correct
response from one of the candidates.
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Extract 10.1: A sample of a correct response.

The 3,930 (42.7%) candidates who performed moderately scored
from 4.5 to 9.5 marks. These candidates explained some of the
principles correctly but they failed to give the required number of
principles. On the contrary, some candidates in this category point
out all the principles but mixed the descriptions among the
principles. For example, the candidates interchanged the
explanations of the principle of utmost good faith with that of
insurable interest and the principle of indemnity with the principle of
proximate cause. This indicated that the candidates had partial
knowledge of the principles of insurance.
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Conversely, 4,285 (46.6%) candidates performed poorly in this
question as they scored from 0 to 4 marks. The poor performance
was due to candidates’ incompetence in the examined concept. Most
of these candidates mentioned the principles of insurance but failed
to provide the relevant explanation to each principle. They also
scored some marks on introduction. The candidates who scored 0
mark failed to provide relevant response to the question. Some
candidates explained the importance of insurance while others
explained different documents used in insurance. For example policy,
cover note, proposal form and claim form. However, they were also
not competent on the documents because the descriptions given did
not give the meaning of the documents mentioned. Furthermore,
other incorrect responses given by some candidates include: the
procedures for taking out an insurance and different types of
insurance such as accident insurance, fire insurance and life
insurance instead of principles of insurance. This is an indication of
failure to interpret the requirements of the question. Extract 10.2
shows a sample of the candidates’ incorrect responses.
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Extract 10.2 is a sample of incorrect response.

In extract 10.2, the candidate mentioned insurance terminologies
instead explaining the principle of insurance.
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3.0 ANALYSIS OF CANDIDATES’ PERFORMANCE PER TOPIC

The analysis shows that the topics which were well performed are:
Transportation, International Trade, Production, Business Management,
Economics Basics, Marketing, Finance, Warehousing management,
Taxation, Business Units, Domestic Trade, commerce Basics and Insurance
from which the multiple choice items were composed. This good
performance (75.6%) on these topics could be attributed to adequate
knowledge and correct interpretation of the requirements of the question.
The averagely performed topics were; Warehousing management (53.5%).
Insurance (53.4%), Business communication (51.1%), Production (49.7%)
essay type questions and Taxation (44.2%) which was tested on short
answer questions. This performance was due to partial knowledge of the
topics examined and improper explanations to some concepts. However,
the topics of Finance (29%), Economic basics 26.3%) and International
trade (19.4%) were poorly performed. The reasons for poor performance
were insufficient knowledge and skills of the concepts taught under these
topics, poor English Language proficiency and incorrect interpretation of
the demands of the questions. The candidates’ performance in various
topics examined is summarised in the Appendix.

4.0 CONCLUSION

The analysis shows that the candidates’ general performance in Commerce
subject in CSEE 2019 was average (51.57%). This performance was
attributed by the number of reasons such as candidates’ partial knowledge
providing of the concepts examined, providing less number of the correct
points than the required points, failure to observe the demands of some
questions. Furthermore some candidates performed poorly due to their
inability to identify tasks of the questions, incompetence of the tested topics
and poor mastery of the English Language. On the contrary, a few
candidates performed well because they had competence on the concepts
tested, were able to identify the requirement of the questions and follow the
instructions together with good mastery of the English Language.
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5.0 RECOMMENDATIONS

In order to improve the performance of the candidates in Commerce subject
the following are recommended:

(@)

(b)

(©)

(d)

Teachers should be encouraged to use vivid sample of cheques and
demonstrate to the students the parties to a cheque and use such
cheque of a bill of exchange to explain to them about negotiable
instruments and account payee only in the topic of finance.

The school management through commerce subject teacher should
arrange study tours to visit commercial banks so as to enable
students to learn more about cheque and different methods of
payments adopted by these banks. Furthermore, the school
management should invite guest speakers from commercial banks to
emphasise on different matters relating to banks especially E-
banking. Likewise, guest speakers from Tan trade to explain about
agents in export and import of goods and services.

Teachers should arrange students in groups and prepare questions
from different topics and ask them to answer the questions through
presentation, especially on the topic of Finance, International trade,
and Economic basics. Teachers should guide students in
presentation. This will build confidence to students and also
improve English Language proficiency.

Teachers/students should find different booklets and read about
taxation and International trade.
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Appendix

Summary of Candidates Performance per topic

Percentage of
Candidates who

S/n | Topic No. Of. Scored 30% Remarks
Questions
Marks or
Above

Warehousing
2 5 53.5 Average
Management
3 | Insurance 10 53.4 Average
4 | Production 9 51.1 Average
5 | Business Communication 8 49.7 Average
6 | Taxation 4 44.2 Average
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